
STEP 6A. With the S-ABA Model Brake Adjuster (shown in Figure 2), the control arm position can be set anywhere 
within the slotted area of the bracket and the adjuster will function properly. Haldex recommends a “common position” for 
all installations – all the way towards the axle, until the control arm comes to the end of the slotted bracket. This “common  
position” should help to avoid confusion for the end user.

L31195  US Rev 06/07  200M  ART

North American Sales Division
Haldex Brake Products Corporation

10707 N.W. Airworld Drive
Kansas City, MO 64153-1215

Phone:  (816) 891-2470
Fax:  (816) 801-4198

North American Sales Division
Haldex Limited

525 Southgate Drive, Unit 1
Guelph, Ontario  CANADA N1G  3W6

Phone:  (519) 826-7723
Fax:  (519) 826-9497

Haldex Commercial Vehicle Systems

ABA - IDENTIFICATION

Two versions of brake adjusters are available from Haldex. The easiest way to identify each is by the shape of the cover plate
assembly, as shown below in Figures 1 and 2.

ABA - TYPICAL APPLICATIONS

Figures 3 and 4 show typical brackets for automatic brake adjuster applications on trailer axle brake assemblies.  

Figure 1. AA1

The control arm of the AA1 Model
must be placed with the “pointer in
the notch,” for proper initial setup.
All AA1 Model setups must occur
with air chambers fully released.

Figure 2. S-ABA

The control arm on the S-ABA Model
can be located anywhere within the
range of the mounting hardware. No
installation pointer is required with 
the S-ABA Model due to the flexible
positioning of the control arm. All
other S-ABA Model installation 
procedures are the same as the 
AA1 Model.  

Figure 3.

Integral cam support anchor bracket for
12 1/4" and 16 1/2" brakes.

Figure 4.

Bolt-on cam support anchor bracket for 12 1/4" and 16 1/2" brakes. Slotted
adjustment plate is mounted to the “S” cam bushing. Plate for Rockwell/Meritor,
Dana and Fruehauf axle requires two bolts. Eaton requires one bolt (see inset).
Position plate on adjuster side of the “S” cam support. Added plate thickness
may require the use of longer mounting bolts. (Refer to torque chart included in
these instructions.) 

ABA - INSTALLATION INSTRUCTIONS

STEP 1.
Assure brake chamber
push rods are fully
retracted. Mount slotted
adjustment plate, if 
needed, to cam support.
Apply anti-seize type
lubricant to camshaft
splines. Torque anchor
plate fasteners per
torque chart included in
these instructions.

STEP 2.
Place at least one inner
cam washer on shaft then
install adjuster with the
7/16" adjusting hex pointing
away from the air chamber.

STEP 3. Secure adjuster to shaft with  
snap ring. Install enough washers (per  
TMC recommended practice) to reduce 
end play to less than .060".

STEP 6B. With the AA1 Model Brake Adjuster
(Figure 1), rotate the control arm away from
adjustment hex, toward the air chamber until it
comes to an internal stop. The “Installation
Indicator” must fall within the slotted area with
the brake fully released. The view of the 
indicator varies from side to side. Haldex AA1
Trailer Adjusters are unhanded and are used
on both axle sides.

STEP 4. Rotate the 7/16" hex 
clockwise to move adjuster into  
clevis. (Do not pull push rod out to   
meet clevis).

STEP 5. Coat clevis pin with 
anti-seize type lubricant and  
install. Secure clevis pin with 
cotter pin.

STEP 7.
Insert the flat end of the
anchor stud through the 
control arm bushing. Push
the threaded end into the
anchor plate slot and 
loosely install flange nut.

STEP 8. After positioning 
control arm and anchor pin 
to desired location, tighten 
the flange nut to 40-50 ft. lbs. 

Note: S-ABA control arm position
is all the way toward the axle.
AA1 control arm position is such
that the installation indicator falls
within the control cover slot.
These common positions work
well for most applications.

STEP 10. Rotate adjustment hex counter clockwise 
1/2 turn. A ratcheting sound will occur on backoff. This
is normal. Recheck all fasteners for proper installation.
Note: Final push rod stroke may not be reached until 
trailer is put into service and the brakes are burnished.

STEP 9.
Adjust
brakes by
rotating the
7/16" 
adjustment
hex clock-
wise until
the lining
just
contacts 
the drum.

Parts List
2  . . . .3/8" x 1-¼" Long Bolt (Meritor)
1  . . . .5/16" x 1" Long Bolt (Fruehauf)
1  . . . .3/8" x 1-¼" Long Bolt (Fruehauf)
2  . . . .1/4" x 1-¼" Long Bolt (Dana)
2  . . . .1/4" Flat Washer (Dana)
1  . . . .1/4" x 1-¼" Long Bolt (Eaton)

Torque Chart
3/8" - 16  . . . . .20-25 ft. lbs.

5/16" - 18  . . . . .10-15 ft. lbs.
1/4" - 20  . . . . . .5-7 ft. lbs.

Warning: Haldex strongly recommends routine visual checks be performed at EACH mainte-
nance service interval. Foundation brake operational checks utilizing CVSA level 1 applied
stroke criteria should always be utilized. Manual adjustment of automatic adjusters can dis-
guise hidden problems within the foundation brake. Brake components such as s-cams,
bushings, return springs, actuators, drums and adjuster installation MUST be within manu-
facturer’s specifications. Adjuster control arms, wear bushings or attaching hardware that
demonstrate visual damage, or which fail the operational checks, MUST be replaced imme-
diately. Automatic Adjusters should NEVER be operated as manual adjusters except as may
be necessary to get the vehicle off the road for service. 

Automatic Brake Adjuster
Installation Instructions

AA1 Model and S-ABA Model

Installation
Guide
L31195 06/07

https://www.carid.com/haldex/


STEP 6A. With the S-ABA Model Brake Adjuster (shown in Figure 2), the control arm position can be set anywhere
within the slotted area of the bracket and the adjuster will function properly. Haldex recommends a “common position” for 
all installations – all the way towards the axle, until the control arm comes to the end of the slotted bracket. This “common  
position” should help to avoid confusion for the end user.

L31195  US Rev 06/07  200M  ART

North American Sales Division
Haldex Brake Products Corporation

10707 N.W. Airworld Drive
Kansas City, MO 64153-1215

Phone:  (816) 891-2470
Fax:  (816) 801-4198

North American Sales Division
Haldex Limited

525 Southgate Drive, Unit 1
Guelph, Ontario  CANADA N1G  3W6

Phone:  (519) 826-7723
Fax:  (519) 826-9497

Haldex Commercial Vehicle Systems

ABA - IDENTIFICATION

Two versions of brake adjusters are available from Haldex. The easiest way to identify each is by the shape of the cover plate
assembly, as shown below in Figures 1 and 2.

ABA - TYPICAL APPLICATIONS

Figures 3 and 4 show typical brackets for automatic brake adjuster applications on trailer axle brake assemblies.  

Figure 1. AA1

The control arm of the AA1 Model
must be placed with the “pointer in
the notch,” for proper initial setup.
All AA1 Model setups must occur
with air chambers fully released.

Figure 2. S-ABA

The control arm on the S-ABA Model
can be located anywhere within the
range of the mounting hardware. No
installation pointer is required with 
the S-ABA Model due to the flexible
positioning of the control arm. All
other S-ABA Model installation 
procedures are the same as the 
AA1 Model.  

Figure 3.

Integral cam support anchor bracket for
12 1/4" and 16 1/2" brakes.

Figure 4.

Bolt-on cam support anchor bracket for 12 1/4" and 16 1/2" brakes. Slotted
adjustment plate is mounted to the “S” cam bushing. Plate for Rockwell/Meritor,
Dana and Fruehauf axle requires two bolts. Eaton requires one bolt (see inset).
Position plate on adjuster side of the “S” cam support. Added plate thickness
may require the use of longer mounting bolts. (Refer to torque chart included in
these instructions.) 

ABA - INSTALLATION INSTRUCTIONS

STEP 1.
Assure brake chamber
push rods are fully
retracted. Mount slotted
adjustment plate, if 
needed, to cam support.
Apply anti-seize type
lubricant to camshaft
splines. Torque anchor
plate fasteners per
torque chart included in
these instructions.

STEP 2.
Place at least one inner
cam washer on shaft then
install adjuster with the
7/16" adjusting hex pointing
away from the air chamber.

STEP 3. Secure adjuster to shaft with
snap ring. Install enough washers (per  
TMC recommended practice) to reduce 
end play to less than .060".

STEP 6B. With the AA1 Model Brake Adjuster
(Figure 1), rotate the control arm away from
adjustment hex, toward the air chamber until it
comes to an internal stop. The “Installation
Indicator” must fall within the slotted area with
the brake fully released. The view of the 
indicator varies from side to side. Haldex AA1
Trailer Adjusters are unhanded and are used
on both axle sides.

STEP 4. Rotate the 7/16" hex
clockwise to move adjuster into  
clevis. (Do not pull push rod out to   
meet clevis).

STEP 5. Coat clevis pin with
anti-seize type lubricant and  
install. Secure clevis pin with 
cotter pin.

STEP 7.
Insert the flat end of the
anchor stud through the 
control arm bushing. Push
the threaded end into the
anchor plate slot and 
loosely install flange nut.

STEP 8. After positioning 
control arm and anchor pin 
to desired location, tighten 
the flange nut to 40-50 ft. lbs. 

Note: S-ABA control arm position
is all the way toward the axle.
AA1 control arm position is such
that the installation indicator falls
within the control cover slot.
These common positions work
well for most applications.

STEP 10. Rotate adjustment hex counter clockwise 
1/2 turn. A ratcheting sound will occur on backoff. This
is normal. Recheck all fasteners for proper installation.
Note: Final push rod stroke may not be reached until 
trailer is put into service and the brakes are burnished.

STEP 9.
Adjust
brakes by
rotating the
7/16" 
adjustment
hex clock-
wise until
the lining
just
contacts 
the drum.

Parts List
2  . . . .3/8" x 1-¼" Long Bolt (Meritor)
1  . . . .5/16" x 1" Long Bolt (Fruehauf)
1  . . . .3/8" x 1-¼" Long Bolt (Fruehauf)
2  . . . .1/4" x 1-¼" Long Bolt (Dana)
2  . . . .1/4" Flat Washer (Dana)
1  . . . .1/4" x 1-¼" Long Bolt (Eaton)

Torque Chart
3/8" - 16  . . . . .20-25 ft. lbs.

5/16" - 18  . . . . .10-15 ft. lbs.
1/4" - 20  . . . . . .5-7 ft. lbs.

Warning: Haldex strongly recommends routine visual checks be performed at EACH mainte-
nance service interval. Foundation brake operational checks utilizing CVSA level 1 applied
stroke criteria should always be utilized. Manual adjustment of automatic adjusters can dis-
guise hidden problems within the foundation brake. Brake components such as s-cams,
bushings, return springs, actuators, drums and adjuster installation MUST be within manu-
facturer’s specifications. Adjuster control arms, wear bushings or attaching hardware that
demonstrate visual damage, or which fail the operational checks, MUST be replaced imme-
diately. Automatic Adjusters should NEVER be operated as manual adjusters except as may
be necessary to get the vehicle off the road for service. 

Automatic Brake Adjuster
Installation Instructions

AA1 Model and S-ABA Model

Installation
Guide
L31195                                    06/07



STEP 6A. With the S-ABA Model Brake Adjuster (shown in Figure 2), the control arm position can be set anywhere 
within the slotted area of the bracket and the adjuster will function properly. Haldex recommends a “common position” for 
all installations – all the way towards the axle, until the control arm comes to the end of the slotted bracket. This “common  
position” should help to avoid confusion for the end user.

ABA - IDENTIFICATION

Two versions of brake adjusters are available from Haldex. The easiest way to identify each is by the shape of the cover plate
assembly, as shown below in Figures 1 and 2.

ABA - TYPICAL APPLICATIONS

Figures 3 and 4 show typical brackets for automatic brake adjuster applications on trailer axle brake assemblies.  

Figure 1. AA1

The control arm of the AA1 Model
must be placed with the “pointer in
the notch,” for proper initial setup.
All AA1 Model setups must occur
with air chambers fully released.

Figure 2. S-ABA

The control arm on the S-ABA Model
can be located anywhere within the
range of the mounting hardware. No
installation pointer is required with 
the S-ABA Model due to the flexible
positioning of the control arm. All
other S-ABA Model installation 
procedures are the same as the 
AA1 Model.  

Figure 3.

Integral cam support anchor bracket for
12 1/4" and 16 1/2" brakes.

Figure 4.

Bolt-on cam support anchor bracket for 12 1/4" and 16 1/2" brakes. Slotted
adjustment plate is mounted to the “S” cam bushing. Plate for Rockwell/Meritor,
Dana and Fruehauf axle requires two bolts. Eaton requires one bolt (see inset).
Position plate on adjuster side of the “S” cam support. Added plate thickness
may require the use of longer mounting bolts. (Refer to torque chart included in
these instructions.) 

ABA - INSTALLATION INSTRUCTIONS

STEP 1.
Assure brake chamber
push rods are fully
retracted. Mount slotted
adjustment plate, if 
needed, to cam support.
Apply anti-seize type
lubricant to camshaft
splines. Torque anchor
plate fasteners per
torque chart included in
these instructions.

STEP 2.
Place at least one inner
cam washer on shaft then
install adjuster with the
7/16" adjusting hex pointing
away from the air chamber.

STEP 3. Secure adjuster to shaft with  
snap ring. Install enough washers (per  
TMC recommended practice) to reduce 
end play to less than .060".

STEP 6B. With the AA1 Model Brake Adjuster
(Figure 1), rotate the control arm away from
adjustment hex, toward the air chamber until it
comes to an internal stop. The “Installation
Indicator” must fall within the slotted area with
the brake fully released. The view of the 
indicator varies from side to side. Haldex AA1
Trailer Adjusters are unhanded and are used
on both axle sides.

STEP 4. Rotate the 7/16" hex 
clockwise to move adjuster into  
clevis. (Do not pull push rod out to   
meet clevis).

STEP 5. Coat clevis pin with 
anti-seize type lubricant and  
install. Secure clevis pin with 
cotter pin.

STEP 7.
Insert the flat end of the
anchor stud through the 
control arm bushing. Push
the threaded end into the
anchor plate slot and 
loosely install flange nut.

STEP 8. After positioning
control arm and anchor pin 
to desired location, tighten 
the flange nut to 40-50 ft. lbs. 

Note: S-ABA control arm position
is all the way toward the axle.
AA1 control arm position is such
that the installation indicator falls
within the control cover slot.
These common positions work
well for most applications.

STEP 10. Rotate adjustment hex counter clockwise
1/2 turn. A ratcheting sound will occur on backoff. This
is normal. Recheck all fasteners for proper installation.
Note: Final push rod stroke may not be reached until 
trailer is put into service and the brakes are burnished.

STEP 9.
Adjust
brakes by
rotating the
7/16" 
adjustment
hex clock-
wise until
the lining
just
contacts 
the drum.

Parts List
2  . . . .3/8" x 1-¼" Long Bolt (Meritor)
1  . . . .5/16" x 1" Long Bolt (Fruehauf)
1  . . . .3/8" x 1-¼" Long Bolt (Fruehauf)
2  . . . .1/4" x 1-¼" Long Bolt (Dana)
2  . . . .1/4" Flat Washer (Dana)
1  . . . .1/4" x 1-¼" Long Bolt (Eaton)

Torque Chart
3/8" - 16  . . . . .20-25 ft. lbs.

5/16" - 18  . . . . .10-15 ft. lbs.
1/4" - 20  . . . . . .5-7 ft. lbs.

Warning: Haldex strongly recommends routine visual checks be performed at EACH mainte-
nance service interval. Foundation brake operational checks utilizing CVSA level 1 applied
stroke criteria should always be utilized. Manual adjustment of automatic adjusters can dis-
guise hidden problems within the foundation brake. Brake components such as s-cams,
bushings, return springs, actuators, drums and adjuster installation MUST be within manu-
facturer’s specifications. Adjuster control arms, wear bushings or attaching hardware that
demonstrate visual damage, or which fail the operational checks, MUST be replaced imme-
diately. Automatic Adjusters should NEVER be operated as manual adjusters except as may
be necessary to get the vehicle off the road for service. 

Automatic Brake Adjuster
Installation Instructions

AA1 Model and S-ABA Model

Installation
Guide
L31195                                    06/07

Discover other replacement brake parts on our website.

https://www.carid.com/brake-parts.html


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




